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{Consider the following key set: 31, 82, 14, 3, 12, 6, 7, 95, 10, 162, 214, 36, 9, 2, 138, 78, 22, 56

—

Sorting with a Priority Queue

1. {10%) Define an algorithm that sorts the key set with a heap (as a priority queue).

2. (20%) Run the algorithm on the key set and show the sorting process step by step.
Sorting with an Array

1. (10%) Define an in-Place Quick Sort algorithm

2. (20%) Run the algorithm to sort the key set in an array and show the sorting process step by step.
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Sorting with a Binary Search Tree
1. (10%) Define a sorting algorithm with an AVL tree.

2. (20%) Run the algorithm on the key set and show the sorting process step by step.
3. (10%) Remove key 14 and key 36. Show the result of the AVL tree.
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